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7 1| c|ems B 1% 7.4 2.8 5.4 8 7.7 3600 7.3 0.36]  0.023[< 0.00006
2 | A | oW B ok g 7.9 1.1 2.9 6 10 16000 2.0[  0.092 — —
NS K i3 7.8 0.9 2.8 6 9.7 11000 2.2 0.098| 0.0047|< 0.00006
a|a|=s|O|O N i3 7.7 0.8 2.7 11 9.6 38000 1.9]  0.086] 0.0057[< 0.00006
5| A [ren 04 i3 8.0 0.6 2.4 8 10 18000 1.8|  0.075 — —
6| [=s|O|O T i3 8.0 0.7 1.9 3 10 7900 1.2|  0.045] 0.0023[< 0.00006
7| A |00 = i3 8.0 0.6 1.6 2 10 6700[  0.95|  0.039| 0.0017|< 0.00006
8| a[=a|O|O # i3 8.3 0.6 1.8 17 11 35000 10| 0.058] 0.0036[< 0.00006
9 |an[==a|O|O A AT 8.1 0.5 1.3 22 11 1400 0.52|  0.032| 0.0027|< 0.00006|<
Ea 10| b |=ws{O]O T i3 7.6 3.0 5.9 18 7.7 140000 5.5 0.37|  0.019]  0.00011
11| b | zwn i3 7.6 1.5 4.6 11 8.1 21000 4.1 0.21]  0.039]  0.00021
# 12| p |=es|O]O B 1% 7.4 2.4 5.2 21 6.2 15000 5.1 0.27|  0.015[  0.00008
g 13 B i % 7.7 2.8 4.0 4 7.5 65000 5.3 0.19] 0.0096  0.00006
14 B i3 7.6 2.2 3.8 7 7.1 180000 5.3 0.078]  0.011|  0.00043
= 15 i & W i 7.4 3.0 6.3 12 6.9 — 8.5 0.30[  0.015(< 0.00006
i 16 tits W 7.3 2.1 5.6 11 5.7 — 4.0 0.24]  0.015(< 0.00006
17 DI R R ) 7.7 2.0 5.4 5 6.8 44000 2.8 0.21|  0.015]  0.00007
5 18 € |xmn L T 7.6 3.4 6.1 25 7.8 17000 4.3 0.24]  0.021]  0.00011
19 ¢ |z i G 7.6 3.9 6.3 16 7.5 65000 5.9 0.35]  0.039]  0.00026
A I[20] A | xon A K I 7.6 1.3 3.5 7 9.0 36000 4.1 0.20[ 0.0068[< 0.00006 0.
21| A | % & & 7.8 0.6 1.9 3 10 59000 2.8 0.090| 0.0044|< 0.00006 0.
22| A [xmn ) JiE & 7.6 1.5 1.8 4 9.2 7100 3.4 0.13| 0.0058[< 0.00006 0.
23| A |0 =1 B 8.0 1.4 2.7 4 11 43000 3.8 0.18] 0.0078[< 0.00006 0.
24| A | s B K & 7.9 1.4 2.6 2 10 44000 3.8 0.23| 0.0087[< 0.00006 0.
25| A [=oa|O|O |44 VX — R 8.1 0.6 1.8 6 11 15000 0.8 0.036| 0.0026/< 0.00006 0.
54 I[26] B [r=n|O|O | & % 7.6 2.0 3.8 8 8.3 37000 4.9 0.25 0.0093[< 0.00006 0.
27| A [=ms|O|O |4 ) & 7.8 0.7 2.4 3 10 33000 3.1 0.22] 0.0043[< 0.00006 0.
28| A [=2a| [O]1L w & 8.0 0.7 2.1 3 10 50000 1.2|  0.051] 0.0016[< 0.00006 0.
# 29| A [=ms|O|O| 3K [ITR 7.9 0.6 1.4 2 10 12000 11| 0.025] 0.0014[< 0.00006 0.
30| A [#2a] OB i 8.0 0.6 1.6 7 10 16000 10| 0.039] 0.0017[< 0.00006 0.
1 31| B [=8| O[O A i A 8.2 0.8 2.0 7 11 32000 1.2|  0.054] 0.0033[< 0.00006 0.
32| B [#2a] |O W & W A5 8.3 0.5 1.4 3 11 10000 0.74|  0.020[ 0.0011[< 0.00006 0.
= 33| A [==s|O|O| LI N 7.8 0.5 1.0 1 9.6 9600 18| 0.021] 0.0013[< 0.00006 0.
34| A [za| |O|R 1 % 8. 0.6 1.5 5 10 16000/  0.80]  0.034|  0.002[< 0.00006 0.
s 35| B [=ms|O|O]| & F % 8. 1.0 4.0 5 10 73000 5.2 0.40[  0.010[{< 0.00006 0.
& 36| B [=#5|O|O| Kk gl & 8. 0.6 2.8 5 10 55000 5.3 0.092]  0.009|< 0.00006 0.
ik 37| A |ma| O[O |k NI 8. 0.6 2.1 4 10 23000 10| 0.039] 0.002[< 0.00006 0.
bl 38| ¢ |==s|O|O|fE H & 7.8 2.1 6.1 13 9.4 - 4.1 0.35 0.017(< 0. 00006 0.
39| B |wmn|O|O| K i ] 8.3 1.6 5.6 7 11 110000 2.3 0.49]  0.021[< 0.00006 0.
w 40 N % ] 8.2 3.8 7.6 12 11 91000 4.0 0.39] 0.0095[< 0.00006 0.
i H 41| B [=s|O|O|F R 1% 7.5 1.2 4.1 19 9 72000 2.4 0.15| 0.0084[< 0.00006 0.
7 42[aa|mma| O[O |FR i 1% 8.3 0.6 1.8 37 10 12000 1.3]  0.080| 0.0048[< 0.00006 0.
T 43| A [ron 5 % 1% 8.3 0.6 1.7 4 10 18000 1.4 0.060]  0.002[< 0.00006 0.
i 44 % & i 8.1 0.5 1.7 6 10 2500[  0.54| 0.012| 0.0023|< 0.00006 0.
i 45 ¢ | bl 1k % 7.4 2.8 6.2 22 8.0 — 3.9 0.27|  0.024 —
46| ¢ [xmn N % & 7.6 2.4 5.8 20 8.6 — 3.4 0.24|  0.018/< 0.00006
47 ¢ | 7R A4 & 7.6 2.5 5.8 31 8.5 — 2.4 0.22|  0.014 —
48| ¢ [xmn i 1% 7.6 2.1 6.0 25 8.0 — 3.0 0.17|  0.010/< 0.00006
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F Jil|a9| ¢ [zmn /N 1 1% 7.5 1.8 5.3 25 8.1 42000 2.6 0.16|  0.011{< 0.00006 0. 0042
1 50| ¢ |mn 1T £ % 7.7 2.9 5.8 20 8.6 — 2.9 0.18]  0.012[< 0.00006 0. 0056

" 51| ¢ [xmn H % 7.6 3.4 7.2 20 8.5 — 3.4 0.29]  0.023[< 0.00006 0. 0059
#o#E )|s2| ¢ [=s|O|O|M IFE % 7.5 2.9 7.2 23 6. 4 - 3.5 0.26]  0.028]  0.00008 0. 0065
” 53| ¢ | s T R i 7.5 3.2 7.1 22 6.7 - 3.2 0.24]  0.026 — —

” 54| ¢ [#mn B Il % 7.6 3.3 6. 4 24 8.2 - 3.1 0.25]  0.019 — —

" 55( ¢ |wmn|O|O |15 % 7.7 2.0 5.5 22 8.9 10000 3.8 0.22|  0.012[  0.00006 0.013

= A4 JIl|se = *H % 7.4 3.0 5.3 11 6.2 12000 3.5 0. 20 — — —
g W I57| D |=es|O|O|KE WE I A PR S OAT 7.3 3.8 7.2 13 6.3 — 3.9 0. 36 0.031 0. 00007 0. 0075
£ E |58 K i & 7.4 3.3 5.8 19 6.1 31000 3.6 0.22 — — -
K [s9| ¢ |=s|OO|H = il 7.6 2.8 7.6 19 8.0 - 3.6 0.24]  0.020[  0.00007 0. 0081
gt % Jlfeo| ¢ [=ms|O|O | 1= % 7.3 1.9 4.9 11 9.6 13000 4.0 0.27|  0.011{< 0.00006 0. 0053
” 61| |wmn N % % 7.5 1.4 5.1 14 8.3 38000 4.8 0.41]  0.015[< 0.00006 0.0023

” 62 C |wmn Th I % 7.6 1.8 4.3 14 7.9 110000 2.6 0.20[  0.015< 0.00006 0. 0095

Z Jil|63 iR % B 7.6 1.7 4.2 14 7.6 82000 2.5 0.17|  0.009[< 0.00006 0.011
w5 J|ea| c|=es|O]|O (M3 i 1 7.3 2.5 5.9 16 8.3 32000 3.9 0.25|  0.014/< 0.00006 0. 0039
K sFIRI|6s| ¢ |#==s|OO|5 N & W F 7.4 2.0 5.2 11 9.6 5700 3.4 0.18|  0.015/< 0.00006 0.0073
n 66 ¢ |wmn 7 P & 7.5 1.5 5.3 11 7.9 210000 4.4 0.28/  0.011J< 0.00006 0. 0060

n 67 C |wmn Z 7 Il A 7.5 2.6 5.9 17 8.1 — 4.7 0.37|  0.017|< 0.00006 0. 0070

# oW A |es| ¢ |=es|O|O |5 B % 7.2 2.1 5.6 10 7.6 22000 7.1 0.40|  0.023/< 0.00006 0.0018
n 69| C|=ms|O[OIV B iF & 7.2 1.1 3.4 12 7.4 320000 7.0 0.13|  0.013/< 0.00006 0.0033

" 70| ¢ | b} % 7.1 1.3 2.7 7 7.7 30000 7.1 0.15|  0.009|< 0.00006 0. 0007
|1 e |es|oflo]|= | % 7.3 1.3 4.4 3 7.3 41000 7.0 0.25]  0.017[< 0.00006 0.0033
2\ Jifr2|c|=s{o]|o|®E % 7.9 0.7 2.1 4 11 61000 5.2|  0.047|  0.008[< 0.00006 0. 0020
/ 73| C [nmn #;OR B M R 7.5 0.5 1.7 3 10 37000 4.7 0.020 0.004|< 0. 00006 0. 0008
wooHE 74| ¢ |ee|O|O |5 % 7.3 1.7 5.4 8 8.9 43000 6.7 0.40|  0.023/< 0.00006 0.0010
I 75| ¢ | - i % 8.1 1.2 2.7 4 11 7000 2.6 0.048| 0.0037[< 0.00006 0. 0025

H Jil|76 o & 8.0 2.4 4.5 4 10 57000 4.8 0.12|  0.055/< 0.00006 0. 0021
e 1] ed K EE fe [e # & 7.5 0.9 1.6 3 9.4 56000 7.9 0.096] 0.0063|< 0.00006[< 0.0006
I 78| ¢ | s A = % 7.8 1.6 3.8 5 11 — 8.4 0.12]  0.020[< 0.00006 0.0013
48 79[ A |ees|O|O|5E % 7.7 0.9 2.7 15 9.4 4400 2.3 0.098 0.0098[< 0.00006 0. 0008
” so| A f=en|O[OF] MR K 7.6 1.0 2.6 12 9.5 6700 2.1|  0.094| 0.012 - -

I 81| A |wmn 7 K & 7.6 1.1 2.7 13 10 17000 2.1]  0.094| 0.012 - —

" 82| A | s Eo®R X B 7.6 1.1 2.5 11 10 7900 17| 0.071] 0.0092 - —

” 83| A fmn|O[OK  H K 1 7.6 1.0 2.6 11 10 9100 1.5 0.072| 0.0096[< 0.00006 0. 0004
A Ji|sa| a s O|O|FE i} ] 7.7 1.2 2.9 15 9.7 5900 2.2|  0.097|  0.018[< 0.00006 0.0017
” 85| A | g M % 7.7 1.5 2.6 13 9.6 860 2.4 0.092| 0.013 - -

I 86| A [#mn 5] T % 7.6 1.4 2.5 11 9.6 2100 2.4 0.095|  0.011 — -

& J|87| B |=ms| OO I3 n & 7.3 3.2 4.8 8 6. 4 290000 5.4 0.20[ 0.0087[< 0.00006 0.0033
A Jn|ss| B |zes|O|O| % B! ] 7.9 2.8 5.1 18 9.9 100000 4.6 0.26]  0.012|< 0.00006 0. 0050
" 89| A |ms|O|O]— ) % 8.1 1.3 4.2 13 10 51000 3.2 0.15| 0.0058[< 0.00006 0.0014

" 90| A frea| O|HF 2 B AE 8.4 0.6 1.8 2 10 13000]  0.93]  0.028| 0.0014[< 0.00006 0.0013
BEOR o |er| B |mes|O|O|£R T % 8.0 2.9 5.4 18 9.9 480000 5.3 0.29]  0.012|< 0.00006 0. 0066
J& /At Ji|e2| B |=es|O|O | %7 R 1% 7.5 1.8 5.4 15 8.4 97000 8.9 0.37|  0.034/< 0.00006 0.016
oo e a[=sa|lO|Of W I 4B 8.2 0.9 1.7 4 10 3600 1.1]  0.026] 0.0028[< 0.00006 0. 0002
l 94| A |ema|O|O | it % 7.9 0.9 1.8 4 10 2100 10| 0.024] 0.0029[< 0.00006 0. 0001
B 7.7 1.7 3.9 11 9.0 50000 3.5 0.18/  0.012]  0.00013 0. 0052




